EMOUNT TO PLMOUNT PRO (A6300)
| COLLAR gl
=

Included:

(1) 1/4x20x1/4 socket cop [

(6) lens adapter rods:

SMALL MEDIUM LARGE

1

00000
0oC OO
©0000

PL MOUNT
(A6300)

-

INSTALLATION
1. Select CAMERA and PL MOUNT, locate WHITE MARK 2. Aligning both WHITE MARKS, fit LENS MOUNT fo
on LENS MOUNT and E-MOUNT. E- MOUNT and gently twist clockwise to lock into place.

3. Select two appropriate length ADAPTER RODS, locate NOTE: To begin aftochment of CAMERA and PL MOUNT

indicated SCREW HOLES on LENS MOUNT and tighten to QUICK CAGE, follow the instructions below.
RODS to LENS MOUNT. See QUICK CAGE instructions for for full assembly.
4. Select ADAPTER FOOT, locate & align ROD HOLES to
ADAPTER RODS. : 1. locate BASE and insert one 1/4-20 or 3/8-16 SCREW
5. locate 1/4-20 HOLE on CAMERA BODY, select info SCREW CHANNEL.
1/4-20 SOCKET CAP, drop through SCREW 2. locate 1/4-20 or 3/8-16 HOLE on ADAPTER FOOT.
CHANNEL, and tighten FOOT to BODY. 3. Aligning SCREW CHANNEL and ADAPTER FOOT,
6. Secure ROD to FOOT by tightening ADAPTER ROD tighten SCREWS to corresponding HOLE.

CLAMP with allen wrench.

SCREW
CHANNEL

I
@
(®

© Wooden Camera, Inc. 2011-2016




